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Chapter 6: 6-2 Trigonometric Functions of Angles Date: Z j Period:

ind the values of the six trigonometric functions for the angle 6
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Find the exact values of the trigonometric functions for the acute angle 6
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13. The peak of Mt. Fuji in Japan is approximately 12,400 feet high. A trigonometry student, several miles
away, notes that the angle between level ground and the peak is 30°. Estimate the distance from the student
to the point on level ground directly beneath the peak
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Use the Pythagorean identities to write the expression as an integer.
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Use fundamental identities to write the first expression in terms of the second, for any acute angle 6.
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Verify the identity by transforming the left-hand side into the right-hand side.
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Find the exact values of the six trigonometric functions of 6 if 8 is in standard position and P is on the
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Find the exact values of the six trigonometric functions of each angle, whenever possible.
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Find the quadrant containing 0 if the given conditions are true.
31. (a) cos6>0andsinB8<0 (b) sinB<0andcot6>0
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Use fundamental identities to find the values of the trigonometric functions for the given conditions.
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Rewrite the expression in nonradical form without using absolute values for the indicated values of 6.
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35. 1+ cot?8; 0<B<m
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